. 0 COD O T-N,T-
COD T-N,T-P
No.206 2001 2 22

13



Y1

30 30 50

: =0.0326x +1.3901
st7( ) B-2( ) /\ ~ 40 st7( ) y X
T Py ——9. - + Py oo o Y
20 - o ot e — - 20 v \/— —e— 230
o 20 | o~ a oA /.\_/'\-
10 + 10 o ——v—re < v
y=0.0822x +17.334 y=-00247x +19.349| © 10 |
04— 0 0.0 bt
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
30 30 5.0
St9( ) () 4 40 Sto( ) y=0.0216x + 1.2261
04+ o P Sy e TR st ettt D30t
a 20 | .
10+ 10+ o] e . o gt oy gt
y=00771x +17427 y=00305x+19264| © 10 T
0 At} 0 0.0 bt
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
30 30 5.0
st ) () a0 b Sti( ) y=-0.0367x + 1.5761
20 — m— -~ . ~ 20 oty , . .o o <
— 8 o — ~—o "o ~ - e~ g 30 f
10 10 g 20 1 —0—0 A
T _ e
¥ =00507x+17.99 y=-00368x +20205 © 10 e o
0 +—+——+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+ 0 +—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+— 00 ——+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
30 30 5.0 )
. ; =-0.0095x + 1.1023
st7( ) A2( ) ~ 40 y
20 g oo —o-2—o -t oo PS - _ 20 ———" S — En 3.0 f
104 10 4 80!
= — (8} - - _e*" "
y=0.0037x + 18.035 y=0.0001x + 18.858 10 e e T o gt
0 A} 0 0.0 bt
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
30 30 5.0 oo
t. ; =
sto( ) B2 ) ~ 40 ) y =0.0027x +0.9857
20 g PP = - o o—o—%o — 20 - e e S
*—o— —o —— 00— " - — d b E’ 30 f
10 + 10 + 8 20 .;\.\
= (] Y 8 = — - A Py
y=-0.001x +18.141 y=0.0293x + 18.442 1.0 e —ty-
0 +—+——+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+ 0 +—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+— 00 ——+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
30 30 5.0 TR
B-1( ) /\ B3( ) < 40 ¢ '
20 Py —o-9 o o 20 . — >~ = >
L4 ST e — e M d hd g 30
10 + 10 + g§20 7
- o L
y =-0.0546x + 19.502 y=0.014x +18.401 10 y=-0.0441x + 3.6236
0 A 0 +—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+— 0.0 bt
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
2004 9 -6-1

10(1) [ 1 CoD(



qT

coD(mg/L) coD(mg/L) CcOD(mg/L) coD(mg/L) coD(mg/L)

coD(mg/L)

5.0
4.0
3.0
20
1.0
0.0

5.0
4.0
3.0
2.0
1.0
0.0

5.0
4.0
3.0
20
1.0
0.0

5.0
4.0
3.0
20
1.0
0.0

5.0
4.0
3.0
20
1.0
0.0

5.0
4.0
3.0
20
1.0
0.0

100
o y =-0.5803x + 37.343
80 +-st7—)
)
S 60+
y=-0.07x +3.9094 5 Aw%%_
=0 ! b
| 2 H
T e e e o S S S
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
100
; =-0.0065x +0.7331 _
L € ) y 80 L sto( ) y=-0.4202x + 24104
L )
S 60
L ?nE, 40 +
w L N
E —0— o _ /‘\‘1 20 &= W“YH °. )
ey N S b
R e B S I S e
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1962 1984 1986 1988 1990 1992 1994 1996 1098 2000 2002
- = 100
| (G y=0.0002x +0.9569 pol y = -0.9095x + 33.046
80 A} 7
r S 60
j=2)
KN g " %
w,\v - Y-w L s ) « 20 =g —, -’V\‘ —e—0 =
————t———t ——————————— L T e e T e e e e e I I e e P e e e I
1978 1980 1982 1984 1986 1988 1990 1092 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
A2 ) 109
H \ /\ P go L B2( ) y = -12844x + 39977
| . _s 2 s 2 1
\./‘ N Se—o W -\/. En 60 \
N I -
r y=0.029x + 2.5453 20 ~N— % -/‘\\-V-Q._A%
————t———t— i U T e e S e e e I I e e B e e S I
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
B-2( ) y =-0.0324x + 2.1662 100
80 + y=-1.2123x +56.201
» \ < 60
8
= > . oo o E 401
e o N ~~— v g2 @
20 483 )
————t———t —————————— L T I e I S S S B e B S S
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002 1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
| B3C ) y=-0.0183x +1.9174
-\(W._V _
e e e I e e B e I

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

2004

9

-6-1

10(2) [ ] cob SS



8(1)

T-N T-P

St.10(

)

St7(

)

—~
[
~

. 18

T
1

®)

-

@)

o —
L, - 1-
R
—
i
L
- i -
e [ =
oy
H
ol
- E
- o ¥ e
S -y |

(6)

)

@

Okm 10k

CoD

[ COD
T-N,T-P
No.206 2004

O T-N,T-

4
11

16






